Mesw (ugeent Puaysis wiTh  (urRent SoueceS

When Yhere are only \ndependent vo“age Sounes |
mesh corrent 0!\0(\\55'\5 boils down to

e {deﬁi%\‘ng the. meghes
¥ w:ﬂ-ina Yee VL equation for each mesh
l\C-H\ere are Nen meshes = Nm eqw;téwns i Nm Unknoung
The presence O‘P corrent soureesS

- eome;kmes makes -Hru?\ﬁs eas(er*
- comehmes males Mf\ﬂs Sawcter O ot moce COmp\lZ’a'('eO(

Ths depends on where Yhe coment Soure 8 |pcated



WRRENT QOURCES o an "EDGE" oF TwE CiReo ™
~ Migle Make thidgs easier
-~ Coccent sovre  afffects only one mesh
- Kence we mmediately Know Hhe curent 1 the mesh
- We do not need fo do KVL &c Hat mesh
- Solve the KVEs forthe other meches

ExaMmpPLE R
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KVL Leop\* —Ve + RT, + &, (I;-Iﬂ =0
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(RRENT SOURCE INA RRANCH TUHATIS SHARED RY TWo MESHES

- Maokes thigs a lile more complicated

- Just weihi \_<VLs around each mesh cd(eJOLs an
unddermmg near sysiem

- We need an odd thonal equaﬁ[pn
I;) Ts (12_ I@?ﬁ 1<

-  (on become combersome
= Can we Shamline Hhe procadure?


Tim Davidson
Tim Davidson - 1-Oct-10 11:03 AM
The left hand side of this equation should be I_2 - I_1


Svueer MESH

® (onstruct o gupermesh oy -Q)sirg +he meshes
Yot ghare dhe corcent sourae

@) wrcite KL aroundne supermesh
©) VUse the souree o celate mesh coments

KVL around Supermesk -0+ | (I.—I;,)-t 5@2‘%} ¥21=0

Use source T -I, =%

KVL for other mesh | (Ta-1)+ 213 + 3(Tz-12) =O

3 equations ,  3unknowns
. 4
Rewnrife
I, 4~ 3T2 +6I2=0O
I -I2 =5

SoLvE T,= 1SA



None ok MEsH ?
~ Depends on  circoit  and qUeshon
~ Queshon:

- if req)itfed answer (s corcent 3 ‘\-emphig Jouse megh
-if naqml’ao‘ answer is vohege,  temphry 1o use nade

- However) Yhe cweott s the keﬂ CO(J'OP

®  Count number of nodes, Nn
@ (eont number of mesheS,  Nm

B  Count number of voltage sour@s Connested 4o
cefecene node, Ny,

Remember Yoo can chaese the referencenode.
Tryto maKe Ny large

@ Count numberof current Souras Yhat
ofSect only one mesh CUmemE) Nre

@ Nove r'equm'es Na- Ny -1 eq uaﬁDf'\S

Mest  requires Nm-Nre equaﬁms



ExamMPLE
20 20
25L 250
lev

il 29
Tl&-n' ¢2A %43"- E,*.E (%; 2V ‘% ‘;éjz.
= { 5L

Wigrear 5 sdies

Num\oerop nocles Na= 7
Numberot meshes  Nm= R

Wy Choage refnode Yo be the bollom nede
Nomber o-Cmdep Vollage Sourea connecrad fo mpnode Nv-= 4

Nomber of ndep cument Souzes on an edge Np =0
=

+ .
Num\oer-oequa‘cwns for mesh ana\‘d s1s: Nm-Nge = 8

Number o?eqmﬁo'rs for  node am\gsisi Nq- Nve-l = 2



